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Liaison Statement on Cell Broadcast Protocol

At our last meeting, RAN WG3 considered a number of contributions related to Cell Broadcast Protocol (CBP), which is the protocol stretching over the Iu interface between the RNC and the Cell Broadcast Center, CBC.

Service Area versus Cell questions

In order to respect the functional separation of core network and radio network and in order to confine the radio (and thus cell coverage) aspects within UTRAN, RAN3 has not introduced the concept of UMTS Cell or UMTS Cell Global Identity* over Iu but instead introduced the concept of Service Area (SA). Such a Service Area can be mapped onto one or more “cells” within a Location Area. This mapping onto cells is, however, invisible to Core Network and will be handled within UTRAN. A cell shall be allowed to belong to more than one Service Area, this means that overlapping Service Areas shall be allowed.

A Serice Area is identified (SAI) as follows:

SAI= MCC + MNC + LAC + SAC,

where the Service Area Code (SAC) has a length of two octets and is unique within the Location Area, the other codes being the traditional codes used in GSM.

The Service Area can be defined so that it matches the “cell” for service information broadcast based on Service Area and therefore does not represent a functional change to the cell broadcast services, if defined in such a way. From an Iu point of view, this means that the RNC-CBC protocol should be defined as Service Area Broadcast Protocol (SABP), regardless of the actual application denomination (that could possibly remain untouched).

We invite the various groups to comment if this is agreeable and if yes, then to update their documentation accordingly, when applicable.

Architectural questions

The question was raised concerning the domain to which the CBC could possibly belong to out of the CS (Circuit Switched) or PS (Packet Switched) domains. Although we acknowledged that the transport resources between the CBC and RNC could use transport resources of either of these domains, we concluded that the CBC could not be part of any of those and should be part of a new domain, that we provisionally named “Broadcast Domain”.

We believe that it does not change any concept of S2 and this approach simplifies our modelling.

_______________________

*: with the exception of inter system handover to GSM where the RANAP target identity protocol element contains the CGI, Cell Global Identity, of the target GSM cell


